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Instructions for candidates :

1.
2.

This exam is in two parts.

Part - 1 is related to Mental Ability. Test which
consists of 90 questions.

Part - II relates to Scholastic Aptitude Test
which consists of 90 questions relating to three
subjects listed below :

() Mathematics

(ii) Science

(iii) Social Studies

Each question carries one mark. All questions
are compulsory.

You have been provided with an answer sheet
(OMR) for this question paper. Darken the
correct option of each question in the answer
sheet (OMR) with black/blue ball pen.

Rough work may be done on the blank space
provided for this purpose.

There is no negative marking in this test.

Do not use white fluid on OMR Answer
Sheet. :

Half an hour extra should be given to
disabled candidates only.
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Directions : (Question 1-10) There is a number/letter
series following a pattern . One place is left blank in
the series. Find out the correct answer from the
options .

1.

10.

6,11,21,36,56

1 42
3 81

2,357 13
1) 8
3 1

3,6,10,15,21, 3

(1 30
3) 32

()
(C)]

2
C)

2
4

4D, 16F,36 H,647J, __

(1) 200M
3) 144P

3,5,6,9,9,13,12 '

a1 17
3 13

23,74,521 ,6,7,43,89,

a 72
3 73

)
C))

(05
@®

2
C))

ZA, YB, XC, WD,

() UF
3) TG

@
C))

51
91

12

28
34

81R
100 L

19
15

SH

KMS, IP8, GS11,EV 14,

(1) BX17
3) CYy17

AZ, GT MN, , YB

(1) JH
3) SK

2,5,9,19,37, ?
@G 73
3) 176

2
C))

(2
4

2
@

BY 17
CX 17

feaew : (yEs 1-10) I5 fod yEar fee at/myqt <t
fea z=t fo'st amt 31 fegt st fe'e fea mus
Y&t sfenr farur 31 femr g & fors e dw @
B § yor a9s B fe'd o €3t fie°F* rat @59 <
g adl

1. 6,11,21,36,56 _____
1 42 @ sl
3) 81 @ 91

2. 2357 ____ 13
(1 8 2 9
3 1 @ 12

3. 3,610,521,
1 30 (2 28
3 32 4 34

4. 4D, 16F,36H,647J,
(1) 200M (2) 8IR
3) 144P 4) 100L

5. 35699,13,12
() 17 2 19
(3) 13 @ 15

6. | 23,745.21.,6,7,43,89,
1 72 2 57
3 73 4) 83

7. ZA,YB, XC, WD,
(1) UF (2) VE
3) TG 4 SH

8. KMS5, IP8, GS11,EV 14,

(1) BX17 2 BY17
3 CY17 4 cCx17
9. AZGTMN,__ . YB
(1 JH 2 SH
3 SK 4 TS
10. 259,19,37, ?
1 73 @ 75
3 76 @ 78

1
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Directions : (Question 11-16) Find th faaen: -
wrong/odd term. ) Find the (yEs11-16) fe's i s o 8= a3,

11) 50,52,55,60.64,70 1D 50,52,55,60,64.70

1) 70 2 52

1 70 . 2 52

3) 60 @ 55 3 60 @ 55
12) - 83,73,63, 53,43 12) 83, 73,63,53,43

(1) 63 2 43 1) 63 2 443

3 83 @ 53 3 83 @ 53
13) 8,27, 64, 125,216, 343 13) 8,27, 64, 125, 216, 343

(1) 216 2 64 1) 216 2 64

3 8 @ 27 3) 8 @ 27
14) EG, HJ, KM, NO, QS 14) EG, HJ, KM, NO, QS

(1) KM 2 QS (1) KM 2 Qs

3) EG 4 NO (3) EG . 4 NO
15) 6,12,20,30,40,56,72 15) 6,12,20,30,40,56,72

1) 20 Q@ 72 ' a 20 72

3 40 4 6 3 40 4 6
16) (1) Copper (2) Zinc 16) (1) 3= (2) faa

(3) Brass (@ Tron 3) fu3ss (4) &

Direction : (Question 17-21) According to the specific faoew | (qus 17-21) faufes gu YT wigAg ISt
pattern fill the blank spaces of letter series in the faS ot vt »ive SFt fegystaat 39 |
following questions .

17. ac __cab__baca --aba___acac 17. ac-__cab_ baca --aba___acac
(1) bebb (2) babb (1) bcbb (2) babb
(3) acbe (4) aacb (3) achc (4)‘ aach
18. N_PC_TP __NT _C 18. N_PC__TP __ NT _C
(1) TNCP (2) PCNT (1) TNCP (2) PCNT .
(3) TCNP _ 4) CPIN (3) TCNP 4) CPIN
19. ab__ __baa____ ab 19. ab__ __baa____ ab
(1) aaaaa (2) aabaa (1) aaaaa (2) aabaa
(3) aabab (4) baabb (3) aabab (4) baabb
20 a_ba_b_b_a_b 20 a_ba_b_b_a__b
(1) abaab (2) abbab (1) abaab (2) abbab
(3) aabba (4) bbabb (3) aabba (4) bbabdb
21. ba_ cb__ b__bab 21. ba__ cb__b__bab
(1) acbb (2) bacc (1) acbb (2) Dbacc
(3) bcaa (4) cabb (3) ©bcaa (4) cabb
i
2
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Direction - (Question 22-27) Replace the question
mark (?) with suitable number from alternatives.

22.

23.

25.

13| 3 | 64
15| 5 (100
? | 6 |196
(1 20
(3) 24

faeen : (yus 22-27) o3 a® feasyt f&® mit

feasyyns &g (1)t agtad
# [13] 3 [ 64
15 | 5 (100
? |1 6 |{196
® 2 5 o %
23.

(1) 48
3 63

1 99
(3) 66

2 74
@) 53

(2) ot
4 67

25.

@ 1
@ 4

7
1) 48 2 74
(3) 63 4 53
® OQ ®
(@) ®»
@) 99 @ 61
(3) 66 4 67
5
4 1
2
25
a1 2 @ 1
@G 3 @ 4

26.
4 o——(¥>—4 o 4 7%4 .‘%_\‘ ,‘S!}‘

a 12
3 15

2) 14
4) 18

3

10 12 2 14
3) 15 @ 18
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27.

5 6 6 7
12 21

4 5

aGn 22 2 30
3) 32 4 36

Direction: (Question 28-31) Developing relationship
on both sides of sign :: Choose correct option and
replace question mark (?) in questions.

28. 124:94 ::321:?

(1 83 2 73

(3 63 4 96
29. 19:23::31:7?

I 37 2 38

3) 33 @ 42
30. Man:walk ::Fish :?

(1) Eat (2) Live

(3) Swim 4) Sleep

31. Mumbai:Maharashtra ::Jaipur : ?
(1) Himachal Pradesh
(2) Jammu Kashmir
(3) Rajasthan
(4) Sikkim

Directions : Based upon the place values of alphabets
answer the questions (32-34).

3.  If ASI =29, ADC=8 then DGSE=?

1y 45 @ 19
3) 35 @ 28
33.  If GO=105, HT=160 then RAC=?
() 128 (2) 54
3) 68 @) 84
34. 1 NMS=23, NTR =26 then TNSE=?
1) 28 @ 43
@) 30 | @ 29

35. Which of the following words cannot be formed
from the letter of given word - MERITORIUS

(1) MENRIS
(3) RISUT 4

(2) METORI
TORIM

27.
5 6 6 7
12 21
4 5
n 22 2 30
3 32 @ 36

faoew :(yus 28-31) feT &g = @ 88 U wrurt
iy rarfuz F9d At feasy €t 3= 93 »3 yus 9
(7) Stagyr 991

28.  124:94 ::321:?

1 83 2 73

3) 63 . 4 96
29. 19:23::31:?

Q 37 2 38

3 33 . @ 42
30. woMt: 98T Hel: ?

(1) yer (2) dfgeT

(3) 39&T (4) R

31. AgEY : HOTgTHEd : AYT : ?
(1) \ fores yew (2) ¥y aadig
(3) THAES (4)

m:—mmamwmm
3 s YES (32-34) © @39 fe6

32. #ad ASI=29,ADC=8 3" DGSE="?

(1) 45 @ 19
3 35 4) 28
33. Had GO=105, HT=160 37 RAC=?
1 128 2 54
(3) 68 4) 84
34. Hdd NMS=23, NTR =26 3T TNSE=?
1 28 2 43
3 30 @ 29
35. f&3 a1 HET MERITORIUS 3 fagar age &91
g A AT ?
(1) MENRIS (2) METORI
- (3) RISUT (4) TORIM
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Direction : Answer the questions
(36-39) based on the given figure .

36.

37.

38.

39.

41.

Q.42

How many squares are there in the given figure ?

1 3 2 6
3 5 4 2
How many triangles are there ?

1) 12 2 30
3 16 4 28
How many straight lines are there ?
H 12 2 15
(3 10 @ 16
How many rectangles are there excluding squares ?
1P 3 2 2
3 5 4 4

Which of the following word can'be forméd
from 'SMART SCHOOL' ?
(1) MNAS )
(3) RATS €)]

SCHON
SMRGT

Rohan ranks seventh from the top and twenty
six from the bottom in a class. How many
students are there in the class ?

(1) 31 2 32

3 33 4 34

Select the combination of the numbers so that
the letters arranged according will form a
meaningful word .

R C E A

1 2 3 4

(1) 1423 )
3) 1234 “4)

2431
4312

How many 5's are in the combination which
are preceeded by 2 and followed by 3.

352 623 542 535 241 253 768

253 482

a1G 1 2 2

3 3 4 4

fagew: fedaefased
WO aa YHE (36-39)
v €39fe€ |
36. f&'3 aR fo'g9 fe'v fda <gar o 7
(1 3 @ 6
@ 5 @4 2
37. {939 fe'e fdabt fggmt os ¢
1 12 @ 30
3 16 4 28
38. fo'39 fe'w fdatt fdtt Juret gz 7
1 12 @ 15
(3 10 @ 16
39. It feaefevidd mfezgs?
(1 3 @ 2
B 5 @ 4
40./ HHE 'SMART SCHOOL' 335 fafipnt fo fiargar
HEE gerfonr A Rger 3 ¢
(1), MNAS (2 SCHON
(3) T ‘RATS (4)  SMRGT
41. ﬁawmﬁ'%gua:?n"—sémé‘&»@
mé‘zsé‘méélmfﬁrg‘sfa%
I5?
(1) 31 : @ 32
@ 33 @) 34

42.

43.

ﬁ%m@m’ua*ém@h%a@’ﬁafg ;
fewsa*sashfe“?a%fae?sfé‘ée‘rmﬁw
HET §fonr arRa |
R C E A
1 2 3 4

(1) 1423 2 2431

(3) 1234 4 4312
fe%a@aﬁaf%‘v»mféﬁ's'aafﬂ??
ufast 2 w3 e g 3 3 |

352 623 542 535 241 253 768

253 482

(1 1 @ 2

3 3 4 4
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44.

45.

47.

49.

50.

51.

How many numbers are there between 2 and
80 which are divisible by 9.

(1 10 @ 9
@ 7 @ 8

The position of how many digits in the given
number will remain same when the digits of the
number are written in reverse order.
1234567 89

1n 4 @2 1

3 2 @ 3

Roshan walks 5m towards east , he turns right
and walks 5m, again he turns right and walks
5m. Now, in which direction is he from the

starting point.
(1) South (2) North
(3) East (4) West

Rahul walks 2 m towards north , He turns left
and walks 2m , Then he turns right and walks
2 m. Again he turns right and walks 2 m. How
far is he from the starting point.

1) 2m )
3 Sm 4)

3m
4m

Ifina certainlanguage ' MADRAS'is coded as
'NBESBT' , how is'BOMBAY' coded in"that
language ?

(1) CPNCBX. 2)
(3) CPOCBZ (4)

CPNCBZ
CQOCBZ

In a cetain code 'ROAD' is written as URDG
howis 'SWAN' written in that code?

(1) VXDQ (2) VZDQ

(3) VZCP 4) UXDQ

If in a certain code BAT=23 and CAT =24 then
how wil you code BALL ?

1 27 2) 28

3) 32 @ 120

If DRIVER=12, PEDESTRAIN=20,
ACCIDENT = 16 then MOUSE =?
(1 8 2 10
3 13 4 9

44.

45.

46.

47

48.

49,

50.

51.

|
e 2 w2 80 fe' wfind A i T Ferdr o
3% I A3 A AAC IS |
(1 10 @ 9
@ 7 4 8

fge fost §at et @ nat § Gue e
fafipr v 3t fegt (RS fad wa »rut ufast
T3 7y 3 Tt afgedt |

1234567 89

(1) 4 @ 1

@ 2 4 3

3 5 Hicg yoa S5 § wrer J 1fes QU AA

R S5 Y] 5 Hiea I5er 3| feg guar AR
TR e yEa QU s Wica ¥BE T 17T €9

oz o8 fig 3 Qo fam fewr fe9 1
(1) ©uE 2) €37
(3) ya¥ (4) uUeM

375 2 Wiea GIr e I5er 3, Qo ¥T uh
<5 y=a 2 Wieg oer 3, feg €0 AR yed 2
Wizg g3er 3 | feT uraT AR UTH HEd 2 Hiew
ey Qo ue 3 fEst g 39|

(1) 24Hed (2) 3Mied
(3)n SHied (4) 44T

3 fait 3wr fe'¥ 'MADRAS' § 'NBESBT'
fafipyrsifar 3 3 @W 97T f€'T 'BOMBAY' §
fa2 fofunr Araar 1

(1) CPNCBX Q)
(3) CPOCBZ 4

CPNCBZ
CQOCBZ

3 fi @3 f9 'ROAD' § "URDG' fafipnr
fapur 3 37 O 33 fET 'SWAN' § fa fafer
e ?

(1) VXDQ (2) VZDQ

(3) VZCP (4 UXDQ

aAfaR 85 fEIBAT=233 W3 CAT =24 3 3t

Qnﬁzfa"-aBALLa’rﬁéarr 7
(1) 27 (2) 28
(3) 32 (4) 120

3 DRIVER=12, PEDESTRAIN=20,
ACCIDENT = 16 3t MOUSE =?

1 8 2 10

3) 13 4 9

) 6
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52. IfAiscoded asC,Biscoded asD,C is coded
as E and so on, then NMMS will be coded as ?

(1) POOU (2) PUUO
(3) UPPO 4) POUO
S3. IfHARP =8034, SHUP= 6854, then RUSH will
be coded as ?
(1 3658 (2) 3568
(3) 3583 4) 3685

54. If Moon is called Green , Green is called blue,
blue is called Earth. Earth is called brown,
brown is called Sky, Sky is called water, water
is called red, red is called Sun, Then what do

we drink when thirsty.
(1) Green (2) Red
(3) Brown 4) Water

Direction : Arrange the words in alphabetical order
and write/choose the word which comes at the second
place in questions (55-56).

55. (D Sateiseya (2) Satyea
(3)  Satisfy (4) Satrishta
56 (1) Kratoosh (2)  Kretish
(3) Kreshit (4)", Krashoot

Directions : (Questions 57-59) which of the following
diagrams correctly represents the relation between

given three words.

@o ©) OO
O

M @ (3) @

57.  Week, Day, Year

58.  Vegetables ,Potato ,Carrot
59.  Table, Pen, Bus

60. A Pen always has :

(1) Nib (2) Tube
(3) Cap 4) Ink

52. AATA $C,B §D, C §E fofourr 7@ w3
feR 3¢t 9t gralt ATt SIS S s ey
< 3t NMMS & ot fafipyr araar 2
(1) POOU (2) PUUO
(3) UPPO (4) POUO

53. A%@ HARP = 8034, SHUP = 6854, §& 3t

RUSH = ?
(1) 3658 (2 3568
(3) 3583 @) 3685

54. ﬁaaéeﬁw,a%&aﬂw,a‘l@g}uae‘r,uas‘ré‘
go, g T, raE g U, et § B
% § gow faar @ 3t i sare 3 ot ot
ui=etar |
(1) qar 2) &%

(3) gar (4) vyt

faadw : yws (55-56) €9 '3 meet § vt
ITSHST @ IH MIAT q97 W3 QT muw e HRen
A 3wrger §

55. (1) Sateiseya (2) Satyea
(3)  Satisfy (4) Satrishta
36V (1) “Kratoosh (2) Kretish

(3) _ Kreshit (4)  Krashoot

ﬁra@u:(z{azs7-59)ﬁaffa’éavéfa%a+fa%‘faw
fo'3s yuw fe's 3 o 3% myet or Adt g

gargery ?
@
O
) ) ® @
57. eI, fos, ns
58. mEHit, 7, qreg

59. W, U& ,8H/

60. feq s fegomr adiery -
(1) fs9 2) fe@w

(3) o= (4) frourat

7 _ :
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Directions : (Question 61- 63) Study the following

figure carefully and answer the given questions.

61.

62

63.

65.

66.

67.

Indians

Which region denotes Indian leaders who are
not singers ?

a2 2 3

3 4 @ 5

Which region represents Indian leaders who
are singers ?

@ 2 2 3

3 4 4 5

Which region represents Indian singers who
are not leaders ?

M 1 2 2

3 3 4 4

If L stands for + , M stands for =, N stands for
X, P stands for + then -
14NIOL 42P 2M8 =?

(1 153 (2) 216

©(3) 248 @ 251

If+means-:-,+means-,-meansxandx
means + then

1246 +3-2 x 8=?

@ -2 2 2

3) 4 @ 8

Which letter is 16th to the right of the letter
which is fourth to the left of 'T' ?
1 S 2 T
3 U @4 Vv

A leap year contains how many weeks and how
many odd days.

(1) 52 weeks and one odd day

(2) 51 weeks and two odd days

(3) 51 weeks and one odd day

(4) 52 weeks and two odd days

fo3ew : (yEs 61-63) 35t fe'd F'39 § fowrs yaear
U3 3 fe3 ymst @ Qa9 fe€ 1
Y

B o

61.

62.

63.

64.

65.

66.

67.

fagar 439 F9st 33T 7 arfeq &9t T5, §
sangerd?

(1 2 (2) 3

(3) 4 4) 5

haara ¥439 FTAITH ‘ I, § TagEr
I

1 2 @' 3

3 4 , @ 5

X} P EH38Y + 3 3
14NIOL 42P 2M8 =?
(1) 153 (2) 216
(3) 248 4 251

AT + TTHIBT =, + THIBY —, - TTHSBH
x, M3 x ST HIBY + 3

1246 +3-2 x 8=?

1 -2 2 2

(3) 4 @ 8

ﬁw»ﬁaléﬁwﬁé‘éﬁnﬂaéﬁuﬁ
F16=I?

a S @ T

3) U @V

fe'x By @ Ae feu 48 3 W3 f4d =7
fesde a5 |

(1) s2qe3ImI1eyies

2) s1gE3m32TUles

(3) s1gE3m31TUfes

(4) s2a@3m32TYfes

t
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69.

70.

If 'P' is the brother of 'Q’, 'Q’ is the sister of
'R’, 'R' is the son of 'T' . Then what is the
relation of 'R’ with'P'.

(1) Son 2)
(3) Sister @)

Father
Brother

'M' is the son of 'N', 'P' who is the sister of 'N'
has son 'D’, How is "M’ related to 'D'.

(1) Nephew (2) Uncle

(3) Cousin (4) Brother

If the day of week on 3rd November 2019 will
be Sunday then day of week on 3rd November
2020 will be .

(1) Tuesday )
(3) Friday 4

Wednesday
Monday

Directions (Question 71-72) : Three figures marked
LILIII have one fold at I, 2nd fold at II and is cut in
figure III from amongst the four alternatives
showing the unfolded position of figure I11.

71.

72.

Question Figure
e o o
I m 111
Answer Figure
a a | o o
0oojlo ollo ollo o
o o a °
m @ 3 @
Question Figure
-~
\
I II m
Answer Figure
Olo||lalojoio||dia
Qo) lo|g| oo 10|

(O) @ 3 @

68.

69.

70.

#a9 'P,'Q' ?33'3, '‘Q,'R ET?%‘%,'R', T
SrYSTI ITREP s AT T |
(1) y39 2) fuzr

EN

(3) o< (4) @ar

'M,'N'Te Y393, P fagstfa'N'&1 8= 3, D'
erery™ I IM T D IE AT |
(1) 3= (2) WS

(3) qIITIT (4) I

Aae {35 399 2019 § WIeW o fox IR

It {35 5¥u9 2020 & 993 v fagar foz 329 |
(1) ’ew<T (2) FU=9
(3) Had=ed (4) PAH=Tg

fsaew (yms 71-72) : fd= fo'get LILI »igAe feg
TR {937 Inigrra w3 gt <t 839 M nigwra A
farur 3 | f'ge M wigwa few § afeonr fapr & 132
32 f'39 ¢ dge T yoe o' Il faw 3t & aa9

WTET |
71.
s f9 39 3
v _(<:
. 1 o
I | | II
€39 fage
] [a] (=] o
0o%o0||lo o) o 0 o o
@) @ [5)) @
72.
yrs fo'ge
\
/ L o
T n I
CECACES]
olojlalal ool |dia
olallo|g| ool o]
) 7)) [©) @

9 : :
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Directions : In the Questions (73-74) Find the water {599 : Y& (73-74) fev ust feg Sus 3 fe'se

Image of figure (x). (x ) fan 3gt & fedar |
73. Question Figure ' 73. yrs fa'sg
Answer Flgure O = O
Questlon Flgure yRE fa'aa
: (x) s
Answer Figure 4 e CACES]

M @ m @
: - g il feg uz 3 feeT (x)
Directions : In the Questions (75-76) Find the mirror ﬁggf W (75-76) fe's
. gt e fedar |
image of figure (x) .
75. 3 i
75. Question Figure . ys fo 39 o
i PRIy 1)
® (x)
Answer Figure SECRCES)
® A " ® o A | . °
N ANA Y N ANALL
m @ (&) @ m 0] &)} @
76. Question Figure 76. yrs fo'ge
x)
Answer Figure ' @39 fa'se
o @ & @ M @) @ @

10
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Directions :

different from others.

71.

(Questions 77-80) Which figure is

{1

Lt

i,

L}

fsger (yas 77-80) faoar fo'ge gfmnt 573"
Tua/fas T |

71.

L

L}

penes ¥ samy A ot vang. wodl.

(i) @ 3 @ ) () ) @
78. 78. .
T | i T .
| 1 i/ | i
Ex } ER ] 1
a (V) 3) @ §)) (¥)) A3) [0))
79. 79.
1
| .
. ' . .
Y
[§)) () ® @ 4} @ 3 @
80. 80.

Ckl<>- O

Directions (Q 81-82) : To complete the figure (x)
replace the question mark from four alternatives.

81. Question Figure

Answer Figure

(x)

0
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&)}

@

o |o-|

3

|

faadn (yas 81-82) : fe'39 (x) & Yo~ a9w et fo3

e 99 faamrf feg yus 93 set §= a9 |
81. yws fo'se
?
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82.
Question Figure

|
\ﬂ

Answer Figure

I

@ @) €)) @ (¢)) ) ()] @
Directions : (Cuestion 83-85) Figure 'x'is embeded 539 : (yu& 83-85) fg'g9 'x' fe'3 are g9 fogat

in which of the following in four alternatives. feu faw &9 gfanr 3femr I |
83 Question Figure 83 7213 fogg
Aok St
Answer Figure (x) ECACES] (x)

4

b K

()] 2 3 4 (1) ) 3 Q)
84 )
Question Figure yas 939
Answer Figure (x) CECACEL] (x)
— b L-J— < [t
— el L J
.‘_‘ 2 . ] -—‘ L] . 1
I I Ll T T
4y 2) 3 @) @ ) 3 @
85 _ 85 .
Question Figure YRS fozg
Answer Figure (x)  ECRCEL] (x)
\
. 1 .
m 2 ) ) 2 3) “

. 12 :
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fseew : (yus 86-88) fa'39 A »3 B »un few far

Directions : (Questions 86-88) Figure A and B are
Y'H €91 578 AYUI 35 1 §R It médy wigwre fe'ge C

related in some particular manner. Establish

relationship between figure C and D according tothe 3 p fe'g RET REFUZ aF |
same manner
86 86
Question Figure yrs fo'sg
A B C D A B C D
Answer Figure CECACES)
m 2 €)] @ v a @ (€)) @
87. 87
Question Figure 7):ry a3
A B C D A B e D
Answer Figure Sgafazqg
0)) ® 0 @ m @ ) @
88 88
Question Figure YR fase
A B C D A B C D
Answer Figure 39 faas
¢y 2) 3 @) @ 2 3 Q)

13 :
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Directions : (Questions 89-90) Which figure will
come at question mark (?).

Question Figure

° | ©
Answer Figure

9|©|©)|e

(1M @ @) @)

~

%.
Question Figure

COICOIED

Answer Figure

~

KN E\F>

(1) @ 3) )

91. Find the smallest perfect square number
which is divisible by first four prime numbers.

(1) 900 2 3600
(3) 44100 4) 4900
92.  Find the value of :
117+ 11%
11
1 12221 2 1331
G) 122 @ 121

93. Gurpreet buys some pencils at the rate of Rs.
5 per pencil and the same number of pencils at
the rate of Rs. 6 per pencil. If she sells these
pencils at the Rate of Rs. 5.75 per pencil , then
find her profit or loss percentage.

(1) 5% loss @) 47 % profit

(3) 5% profit (4) 4%%loss

fooew: (yas 89—90)@31‘%3(?)@“'33&3?
fo'gg nraar

891{33&-’%3
o | © ?
9[©|©|L
90 —
EORDOID| 2

DB\

(1) @) ©) @)

91. BT &4 3 84 yas <9ar A U3T AT
ufgsht w1 ma Aftmret §78 ydt yat <t
R ?

(1) 900 (2) 3600
(3) 44100 4 4900
92. 117+ 11¥ T yBuzTaT
11*
(1) 12221 (2) 1331
3) 122 4 121

93. FIT F¥ Isfmst 5 gu? Yt Usfrs &t ea
% yatedt & w2 Qabit At Usfnst 6 gug
Y=t Usfirs <t w9 575 yateet 31 a99 € few
Usfrst 5.75 gu Y3t Uafhe <t g 578 |
I+ Grer 379 At Iat S usT adi

(1) 5% Tt @ 4L%wd

B) 5% &3 @) 4%%31#1

. 14
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9s.

97.

99,

-shape of a cube, which face

Area of a rectangle is 49x? -9y* square units.
If one side of this rectangle is (7x+3y) units, then
find the length of its other sides.

(1) (7x-3y) units (2) (7y-3x) units
(3)  (7y+3x) units (4)  (7xy+3) units.

For a number y, division y-: 5 leavesa remainder
3 and division y + 2 leaves a remainder 1. Find
the unit place digit of the number 'y’

a1 2 2 3

3 5 4 8

Given pie chart represents
the expenditure of a State.
Govt. under different heads.
If the total expenditure is
Rs. 20 crores. How much
more money was spent on

'others head ' than
education head ?
(1) %40 lakhs (2) 4 crores
(3) - 41akhs (4) 40 thousand
LT . T
In thiygiyfn Rhombus
STAL ZORA = 55°, / \
find ZQAR.
(o]} A

(1 55 s
(2 45 5t
(3) 125°

@ 35 R

The given net is folded into the

will be opposite to face 'C'. A

O A
2 D
3 E
@ F-

mio|io|w
-

Find the area of the shaded region in the given
figure. Here PQRS is a parallelogram, in
which QR=42m and Q M

LM=35m. ] R
(1) 735m?
2) 745m?
(3) 685 m?
@ 675m? P L S

9s.

96.

97.

98.

99.

fe'a nrfes e 43988 49x2 9y? Taar feareint
317aq fenel fo'a ga™ (7x+3y) fearemt 3@ 3t
ghdt gAT & 397E u3T 94|
(1) (7x3y)fearetnt  (2)
()  (7y+3x)fearett (4)

(7y-3x) faaretmt
(7xy+3) fearatmt

fe'a oo y oet, grar y 2 5er et 3 g9er 3
W3 Iy +2 ST EET 1 §UET T | Afer ty' ©r
fearet A uzT F91

1 2 2 3

3 5 4 8

3 a3 918 Y99 § Sanrfen
farr 3 | A9 AT EATIT
B 20 IS g; TTHIT AT
faryr 3@ 3t yzT a9 fa T3’
He 3 fiferr we 3 fdsr
femrar yaw 3T fapar ?

(1) 403Y ()
(3) 4By )

4 3T
40 J99

fa'3 ar® meIIgw STAR
fa*5 /ZORA = 55° T
Z0AR TS USTqT ?
(1) 55 s A
2) 45 55°

(3) 125
@ 35 R

fe3masgfequsagy
f&g Wi forrr & 1387 'C!
e ey Y faudtesa d<ait ? | A
1 A
2 D
3 E
4 F

mO|IO|®
“

fa'3 fa'gv fev efenr wifag AT er 4z3Tes U™
a9 Ife® PQRS fexmHigg agegn d, famfes

QR=£2m"3 Q M
LM=35mJ I ] R
(1) 735m?

(2) 745 m?

(3) 685 m?

(4)  675m? p L S
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100.

101.

102,

103.

104.

105.

106.

In the given figure AB=

AC, find the value of x .

1 92°

2) 44°

3) 136°

4 120° £ -
What percent of 1 kmis1cm ?

1) 1% (2) 0.001 %

3) 0.01% 4 10%

If 3/7 of a number is 15 then what is 1.75
times of that number ?
1) 350 2)
(3) 605 “4)

61.25
63.25

In the given figure, PQIIRS, TRIIQU and
APTR 42" Find AQUR ?

o)) »>
2

3) 1420

@) . 138

Find the probability of getting a composite
number on throwing a dice ?
1 e 2 13

3 23 4

In the given figure, AABC and ADBC.-are on
the same base BC, AB =DC and AC =DB then
which of the following is true ?
A D
(1) AABC=ADBC
(2 AABC=ACBD
(83 AABC=ADCB
(4 AABC=ABCD 8

If the area of rhombus is 2 x2+2x+3/2 then

find its smaller diagonal ?
(1) x-2 2) =x+2
3) x+1 @ x

100.

101.

103.

fe'3 are fa'3q & AB=
AC3 ,x THBUITTT |

@ 92
2 444
3) 136°
@ 120° < 5
1 RefieT , 1 fadies e f&d ySes 3 7
(1 1% @  0.001%
(3 0.01% @4  10%

102. 7a3 fan Afumr ar 3/7 g 15 3= 3t fer Afprr
e 1.75 P fasr IR ?
(1) 350 . (2 6125
(3) 605 @) 6325
fe'3 fe'ggs fIv PQIIRS IIQU w3
ZPTR=42° J@ 3t ZQUR

104.

105.

106.

(D
2
3) 142°
4) 138

fea Ui § Fee 3 fe'a g ifpnm Lz = <t
Haresy enysT ag ?

1) 16 Q2 13

3 23 4 ¥

fea g fe'gafee AABC»3 ADBC fex
@t »rgg BC 3 Afez 951 A9 AB=DC »3
AC=DB J@ It I&
fofrt f€S faoarmat D

37

(1) AABC=ADBC
() AABC=ACBD
(3) AABC=ADCB
(4 AABC=ABCD

A9 feq M 93IgH T 4IFTE Vs x242x+3/2
R Stfere @2 feass ey Uz a3 7
G x2 (2) x+2

3)  x+l1 @ x
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107.

108.

1090

110.

111.

112.

113.

114.

If 3.245x10* = 0.0003245 then the value of 'k'
is:

(n 4 2 -4

3 3 @ -3

If the price of an article is increased by 20%
then decreased by 20%, then how much
increase/decrease percentage will be there ?
(1) No change (2) 4% increase

(3) 4% decrease (4) 10% decrease

Divide number 300 in such a way that half of
its one part is 48 less than of its second part .

Find its parts.
(1) 168,132 (2) 158,142
3) 162,138 4 152,148

Reciprocal of a positive rational number is

always ..........
(1) Positive (2) Negative
(3) Multiplicative 4 Additive

Earth quake is caused by :

(1) Gravitational pull of moon
(2) Over population

(3) Movement in tectonic plates
(4) all of these

If an object produces 120 oscillations in one
minute then calculate its frequency.

(1) 1Hz (2) 2Hz

3) 3Hz 4 4Hz

Ultrasound has a frequency of :
(1) 0-20Hz

(2) 20Hz- 20,000Hz

(3) more than 20,000Hz

(4) none

If pitch of sound is more, then frequency of
sound is :

(1) More )
(3) zero )]

less
No change

107.

108.

109.

110.

111.

112,

113.

114.

AT 3.245x10% = 0.0003245 I It k' T YT uIT
qq |

1) 4 @ 4

@ 3 4 -3

A99 fé'qa THg T ¥ 20% wur & feg 20%
wefenr wrer 3 3t {48 ySheeg Tar/urer
Jeam?

(1) dcEgEdHaEd (2)
(3) 4%wer (4)

4% QT
10 % Wrer

Afepar 300 3 @ gart fa's few gt 33 fa fe'a
I T MY TAT I7T T 48 W IX It fere
FAYITIAT |

(1) 168,132 2) 158,142

(3 162,138 (4) 152,148

fait gsrava  ufona fAfmr e @Beqy aiaT
............ Jger i

(1) TSI (2) feeawa

(3) FJTSHA 4) #AIFAT

g e Ty aas I ?

(1) 93 € ggIaene fi'g a9s

(2) <t It Asifenr
(3) Zaefaa yBet &t ISt a9s

(4) Quagz A

7 &t ang f'q fite fd'e 120 355 Y3 qoet @
3t Gwelt et ot 9=t ?

(1) 1Hz (2) 2Hz

(3) 3Hz (4) 4Hz
WETAYT g8t & wreat ot Fet I ¢

(1)  0-20Hz

(2)  20Hz- 20,000Hz
(3) 20,000Hz3 g
(4) dEr&dt

A9 s of fu'e <0 IX 3t Gt oSt
at 3Iaft ?

(1) <u (2) we

(3) w9 (4) T g9d &t
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115.

116.

117.

118.

1hz frequency is equal to :

(1)  one oscillation per min.
(2) 20 oscillations per min.
(3) 40 oscillations per min.
(4) 60 oscillations per min.

Which is not a non-contact force ?
(1)  Electrostatic force

(2) Gravitational force

(3) Magnetic force

(4) Muscular force

What is the full form of LED ?
(1) Light Emitting Diode

(2) Light Energy Device

(3) Light Electronic Device
(4) Low Electric Disc

Which one is not a good conductor of electricity ?
(1) Tap water 2) Ink
(3) milk (4) Honey

119. Which one is a non-luminous body ?

120.

121.

122,

123.

(1)  Sun )
3) Candie light “)

Moon
Electric Lamp

Which part of an eye provides colour to the eye?

(1) Cornea (2) Irs
(3) lens (4) pupil
Kaleidoscope is based upon :

(1) Reflection

(2) Refraction

(3) Multiple reflection
(4) internal reflection

When a ray of light travels from rarer to
denser medium, then :

(1) 4i=4r 2
3) ZLi>sr 4)

i< /r
i< /r

In which part/layer of the atmosphere is the
Ozone layer present ?

(1)  Troposphere

(2) Mezosphere

(3) Thermo sphere

(4)  Stratosphere

115.

116.

117.

118.

119.

120.

121.

122.

123,

1 g3 »<adt fan @ gewg &t 3 7
(1) feqsss ystfie
(2) 20385yt fire
(3) 40385 Y3t fite
(4) 60 33aystfire

fegst S faosr ituea a5 50T 9 |
(1) wfeg farset e y

2) IEITIH |

(3) Ygates

(4) Uit E®

LED €7 Yo &t €h ?

(1) Light Emitting Diode
(2) Light Energy Device
(3) Light Electronic Device
(4) Low Electric Disc

fevest fe'S fargar famet e 4 S 5 3 7

(1) sFE Yt (2) frorat

(3) €U (4) wfge ’
(L) ©5IH (2) &~

(3) wEHT@Ee @4 faEEIdy
WY T fIgamaaN wy § T YEs 9T I ?
(1) /graatmr (2) wrfean

(3) Bad 4) ysst
FEIERY faw TgT? I wisT § 7
(1) yI<dss '

2) MY=TIS

(3) gI-YI=I3IS
(4) MTIST UT=I3IS

e feq e faes gor S agTs At d 3t:
(1) ZLi=sr (2 Li<s
(3) 4>z @4 Jissr

s yeg TYiEs @ fan gar feu Afag 3 ¢
(1) 2IJURShAT

(2) HiEAEa

(3) EIHARIHT

(4) FEIEHSPHT
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124

125.

126.

127.

128.

129.

If cloths of equal measurements of cotton,
nylon, silk and wool are soaked in a beaker
filled with water. After few minutes, were
taken out of the beaker and weighed , which
of the following is correct order of their final
weights?

(1) wool > silk > Nylon > cotton .

(2) cotton > silk > nylon > wool

(3) silk > wool > cotton > nylon

(4)  wool > cotton > silk > nylon

Which of the following material takes 10-15
years to degenerate completely ?

(1) Wood

(2) Paper

(3) Peels of vegetable and fruits

(4) Plastic bags

P : A liquid metal

Q : A liquid non-metal

R : A gaseous non metal

S A non metal which conducts electricity
,Q,R S are respectively

(1)  Iron, Iodine, hydrogen, and\oxygen

(2)  Gold, Sulphur, Chlorine and hydrogen

(3) Copper, Phosphorus ,Nitrogen and Carbon

(4) Mercury , Bromine, oxygen and graphite

In general, metallic oxides are :
(1) Basic in nature

(2)  Acidic in nature

(3) Neutral in nature

(49 Both1and2

Which of the following statments is incorrect :

(1) Coal, petroleum and natural gas are called
fossil fuels .

(2) Coal and natural gas are exhaustible
substances .

(3) CNG is more polluting than petrol

(4) Coke is used in the manufature of steel.

I am very reactive. I react vigorously with
oxygen and water and generate a lot of heat .
I am therefore stored in kerosene . Guess who
Iam?

(1) Phosphorous (2) Sodium

(3) Calcium 4) Iron

124.

125.

126.

127+

128.

129.

#1499 5999 U @ jt , 578 s, 3t i3 €7a1
TUIF Yt © 99 Hiae fe g8 fo3 e w3
I M gie Hiae {9 aog ag & Qust er
9 13T A< 3t Gt © I79 vigH9 I5 fafprt
f&S fagar g wat 32 ¢

(1) €St it > sE8s > gt

(2) Eﬁ>§mﬁ>mﬁ?§>€?ﬁ'

(3) 3Imdt > €81 > AT FESS

(4) €3> a3 > sEIEE

5 fefiprt f&S fagsr ye9g sagar 10-15
et fegged yan T A<ar ?

(1) a3z

(2) O

(3) AEHl M3 et € fesa

(4) yBHfex §BM

P : wegufeefizzessias

Q : sT=gvfee s sstnus

R : 3t mienw fev fimse @t o3
S mmfeﬁ‘famtwnae‘rﬁl
P,Q,R,S T T5 :

(1) &I, nfe6sls, afsﬂammsmmmr
(2) AT ,ABed, IBIIS M3 TEIZIHS

(3). @TUd, THSIH, BTEICIHS M3 AIIS
(4) \ H3gat (uaT) , s, niraies M3 JETEle

Wy 39 S A3 HAAET ....... Jeas |

(1) “goHIH T

(2) SwuEtEsWE

(3) €ems

(4) 1mMI2e<

35 fofint qust f9 fagasraues aBa 3 :

(1) T8, U238 W3 Fedst N YTy
T8 I5 |

(2) TB M3 IS IR IS T8 A0S
oY

(3) FiAsH UeI® 578 TUI ygRaad J|
(4) o eES RS € faarre BEt it A
J

W 8993 Ei-fafenmis gt | B wrarives w3
ytsw et 3w dda Iy Uer
ager gt | fen et i W& @ 35 e dfr
Aterd IR AT T ?

(1) THedw (2) FAShH

(3) aBHP (4) 8T
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130.

131.

132,

133.

134.

135.

1%.

137.

Rayon is obtained from :

(1) Nylon (2) Carbon

(3) Wood Pulp 4) Jute

Chemical formula of Sulphurous Acid is :
(1) HSO, (2 H,SO,

(3 HSO, 4 H,SO,

Name a non-metal which is used for antibiotics:
(1) Chlorine (2) Bromine

(3) Iodine (4)  Sulphine
Naphthlene balls are obtained from :

(1) Benzene (2) Petrol

(3) Coal Tar (4) Chlorine
Which non-metal is used for water purification.
(1) Bromine (2) Chlorine

(3) Iodine (4) Calcium
Which one is a pollutant ?

(1) Chlorinated water
(2) Cold water

(3) Hot water

(4) Filtered water

On the basis of calorific value of some fuels
find the correct order of efficiency of fuels :

Fuel Calorific Value (KJ/Kg)
Coal 25000-33000

Diesel 45,000

LPG 55,000

CNG 50,000

(1) LPG >CNG >Diesel > Coal
(2) Coal > Diesel >LPG> CNG
(3) Diesel > CNG > Coal > LPG
(4) CNG> LPG > Diesel > Coal

Take a beaker and fill half of it with water.

Put some wheet seeds in it, stir it and wait for

some time . Which of the following statement

is true for this experiment ?

(1) Healthy seeds being lighter, float on the
surface of water.

(2) Damaged seeds being lighter, float on the
surface of water.

(3) Damaged seeds being heavier, settle down
at the bottom.

(4) Some damaged seeds and some healthy
seeds float on the surface of water.

130.

131.

132.

133.

134.

- 135.

136.

137.

mwesuwfané‘iléi?

(1) €8s (2) a9Es
(3) ®azfHy (4) FRE
refe@an 3wy e aAfesq gIT R ?
(1) HSOo, (2) HSO,
(3) H,SO, (4 H,SO,

€n a3 wr 5t EF faodt @Wafex 2 gu fe's
TS At 3 ?

(1) oBds (2) "ot

(3) wfeGsts (4) wEds
aeuBls Tt disiit faw 3* gt a7
(1) S=+ts 2) Ueds

(3) B39 (4) IBIE

yret § diere-afaz q9s BEt w9t Are Tt
w3 faast I 7

(1) gt (2) aBdE
(3) wfeGsts (4) SABHPMN
fegst feS faga ygna @ 7

(1) &S gag urst

(2) STyt

(3) IAHUST

(4). femeg e yrat
gget FABA YT S wug InAITT BT &

an ¥t 9.9 :

TBE ABA ¥'E (KJ/Kg)
asr 25,000-33[000
o) 45,000

ns At 55,000

it s At 50,000

(1) wstqA>AAs A > Fas > asT
(2) B> FEE > At A > /it As A
(3) = >Aaas At > s> et At
(4) WA > AT A > Fae > T

fea fiaa 36 3 »gr st 3B IT BT T

geq @ "W giae fT9 ue w3 fauG 17 it

esta ag | I5 fafimit fF fxo= aus few

yiar St Aut 3L ?

(1) froave 99 I8d I 98 uet Qua
396 BI AT IS

(2) Y9'¥ "W I8 IS 95 Ut GuT 395
BA AT IS

(3) YIHH I IS I9d Hag € I8 3 85
AT TS|

(4) TY Y'Y €A I ¥ fave §9 uet
Sua 3¢ 751
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138.

139

140.

141.

142.

143.

144.

The period of crop harvesting is celebrated
with joy and happiness in all parts of India.
Which among the following groups of festival
is associated with harvest season.

(1)  Pongal,Holi,Nabanya, Bihu, Baisakhi

(2) Diwali, Christmas, Eid, Pongal , Baisakhi
(3) Holi, Christmas, Eid

(4) Pongal, Diwali, Eid

Which of the following organisms promotes the
formation of curd ?
(1) lactobacillus )

(3)  Spirogyra (€Y

Amoeba
Virus

The adverse effect of deforestation is
A. Reduce rainfall

B. Soil erosion

C. Destruction of habitat
D. Climate Change

(1) BandC 2)
(3) A,BandConly (4)

B only
AB,Cand D

Which of the following is correct sequence

(1) Cell—Organ—Organ System—sTissue—Organism
@  Cell>Tissue—Organ System—Organism—sOrgan
@)  Cell>Tissue—Organ—0Organ System—Organism
(4)  Organism—Organ System—Qrgan—Tissue—Cell

are large area of protected-land for
conservation of wild life, plant and animal
resources and traditional life of the tribals
living in the area.

(1) Biosphere Reseve

(2) National Park

(3) Sanctuary

4) Zoo

An ecosystem is made of :

(1) Plants (2) Animals

(3) Non-living (4) All the above

What does our body produce to fight the
invader when a disease carrying microbe
enters our body:

(1) Antigen )
(3) Pathogens

Antibodies
(4) Antibiotics

138.

139

140 .

393 {9 ens & T%t § Yisar w3 yuorst
& Hatfenr wter 3 1 35 fefipnt i faos -
faod fa@ue = et o7 Huz a5 ?

(1) U9, I8Y, s<fenr, Hiy, fenmd

(2) fe=sl, fqufim, dte, Tams, fermit
(3) d%1, fgufim, de

(4) Uam,dlest, de

35 fafint 'S faga punrite st g @ e

. Hew ddeT J ?
(1) SBFeqrsH (2) nhitwr
(3) nAuEidarfear (4) femg
Horst &t qedt @ I 3N 95
A. WZ Ty '
B. d-49

141.

142

143.

144

C. QoIS »<H AgS ST ST
D. 7%y ufseass

(1.) B3 C 2 BaTT
3 A,BmW3C 4 ABCYWM3D
5 fefipt @9 faoaht gty meait 3

(1)  ABWETE yEBisfegoite
2) ABfeg—iar ystmTiEr
(3), ABferia—ier yest-e
(4) ¥ HiT—-9aT yE Bt naifer—is

2 10 #aSt Aies @ gofie st guT @

I Qo' fews d39 3, A dfemt, dgmt

w3 wfe Tt § youfaa e Sar nigng

f;@%aﬁzs&?a@(m)mw
I

(1) =735 famae

(2) 3WSH U

(3) Tyt

(4) fodbwrwe

fai 439 e yAfafaa yia fan 3 sfenr Sfonr 3 :
(1) dfent (2) wgot

(3) fsovite mt (4) Cuiaz Ad

fordt do@e o8 wied v e fie'g ows
Je I8 3t s Adle few owsTeg o yarasT
Fes s At Ao qae 95 :

1) AAns

(2) W g (GEfils)

(3) ¥

(4) yImfex
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145.

146.

147.

148.

149.

150

151.

Which of the following is a female reproductive
organ ?

(1) Testes 2
(3) Penis (0]

Spermduct
Ovary

Which of the following part of cell is common
in plant cell, animal cell and bacteria cell ?
(1)  Chloroplast (2) Cell membrane
(3) Cell wall (4) Nucleus

In the list of animals given below, hen is odd
one out:
Human being, Cow, Dog, Hen.
The reason for this is :
(1) It undergoes internal fertilization
(2) Itis oviparous
(3) Itis viviparous
(4) Tt undergoes external fertilization

Structure present in a cell which is responsible
for determination of sex of a baby is :

(1) Cytoplasm (2) Nucleus

(3) Cell Membrane (4)  Chromosomes
Red Data book is a source of

(1) Migration

(2) Reforestation
(3) Endangered species
(4) Ecosystem

Read the statement and give appropriate
answer :

"I am like a policeman, allows movement of
selective substances or materials both inward
and outward."

(1) Cellwall

(2) Cell membrane

(3) Nucleus

(49) Mitochondria

The plant of which crop is like bush, requires
20° to 30° Celcius temperature and 150-300
cm annual rainfall for its growth ?

(1) Coffee 3
(3) Cocoa C))

Tea
Wheat

145

146

147

148.

149

150

151.

fegst f&F fagasr wer eraEs ward ?
(1) uIg (2) oI oSt
(3) &7 féedt (4) wWEaH

35 fod Aw @ Frart f&F fagar avar Uer R,

A3 e w3 Sadtdt Aw fea fimer 3 ¢
(1) TABIUBHS (2) A®fEst

(3) AT EU (4) dqeT

35 fod Aaet & get feahyasht ans &
W3 o, a1, g3, yaett |

fagfa :

(1) fen fé'9 regat ger gl

(2) fegeggeT <o y I

(3) feg w@ = Tor AaH I
(4) fen f&9 aadt fores der 31

A% fe'g @9 fagar wiar @ + fdar fsauas Bet

fleeferd:

(1) RBT= (2) ¥
(3), A= fEst (4) IESHST
BITEHA ... TRI N

(1) YS™H

(2y) duwarge

(3) 493 @ AT T G Feibut Yt o
(4) ywfafsa yia

35 fed aws § ug & At €39 2 fours BarS:
N fe'x yBIH qoraTdt AT It IW 2 yeraEt
3 s @ vied -gog @z wre Rerat 1
(1) AT

(2) #A®fEst

(3) ded

(4) WG ZIHT

fanens erder g oAt wmarder 3, fan @
Jer 595 et 20° 3 30° Rerbaw ST 3UNS
»2 150 F 300 AThiied ArEaT Ty €t Age3
et ?

(1) det (2) 99

(3) ad (4) =
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152.

153.

154.

155.

156.

157.

158.

159.

What percentage of hydro-electricity of the

world is produced by India ?
1 8% 2) 4%
G) 1% @ 3%

Which country produces 50% of the total
world maize production ?

(1) USA (2) India

(3) Brazil (4) Argentina

What the hotness of the air is known as ?
(1) Dust particles

(2) Humidity

(3) Temperature

(4) Organic Ingredients

Which of the following is the smallest ocean?
(1) Indian Ocean (2) Pacific Ocean
(3) Atlantic Ocean (4) Arctic Ocean

Which of following kind of soil is related to

Khadar and Banger ?
(1) Redsoil (2) Black'soil
(3) Alluvial soil (4) ~ Mountain soil

Name the largest coffee producing Country ?
(1) India

(2) China

(3) United States of America

(4) Brazil

When is wheat sown in Punjab?

(1) November -December

(2) March -April
(3) June-July
(4) August September

Name the natural calamity which is called
""Hurricanes " in North America 'typhoons"
in South East Asia and Storms or whirlwinds
in India ?

(1) Tsunami

(2) Volcanic Activity

(3) Drought

(4) Cyclones

152.

153.

154.

155.

156.

93 Y3 Arre &t f&d yIEs ue fawet der
Faferrd?

(1) 8% (2) 4%

(3) 1% (4) 3%

fagzr en feasr It A9 & BT 50% Wat

feraaerd |
(1) ygmwg (2) I3
(3) g% (4) wEASeEIST

g feust gt § I fefiprt f@F ot faor
AT d?

(1) gZae 2)

(3) IUNS (4) wieanm

35 et RS AT 3 - oI fagsT 3 ¢
(1) e rwamae

(2) HIHITAIE

(3) WO HIAEE

(4) wgdfed HITAIG

YS9 73 w9 35 fefinrt feg fam fams <t
HAsETa I ?

1), [ & He 2) TBIMHA
(3) wsehié (4) rvgust &
157. mofeung I Juddtlerass e Sawerst

on?

(1) 33 (2) «dt&

(3)  npdtar (4) gHE

158. IwY fe'g a=a I35 fafimit f&F faoa watfomt

dos diFt atet § 2

(1) S<gI-oFEd

(2) HIS-HUZ

(3) v&-gsrE

159.

(4) ;lam:g—ns}aa

faw geaat wres § €39t midtar feg odtds,
YT - yaut e o9 Srfegs w2 Teag e
¥YT , JT6 Af T fqar ater 3 7

(1) gt

(2) FALBHH
(3) Far

“

(4) gag=e3
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160.

161.

162.

163.

164.

165.

166.

167.

- 3)

Name the ocean where most of the volcanoes
erupt in the 'ring of Fire'

(1) Indian Ocean
(2) Pacific Ocean
(3) Arctic Ocean
(4) Atlantic Ocean

Name the largest gold producing state in India.
(1) Punjab (2) Haryana
(3) Uttar Pradesh (4) Karnatka

Who started Din-i-ilahi ?
(1) Akbar 2)
(3) Babar ()]

Jahangir
Aurangzeb

Who wrote Jangnanam ?
(1) Amrita Pritam  (2)
(3) Shah Mohammad (4)

Nanak Singh
Bulleh Shah

Between whom the battle of Plassey was
fought?

(1) Siraj-ud-Daula and Britishers

(2) Robert Clive and MirQasim

(3) Siraj-ud-Daula and MirQasim

(4) Robert Clive and MirJafer

When was the East India Company established

in India ?

(1) 23 June 1757

(2) 23 October 1764
(3) 31 December 1600
(4) 30 December 1608

Who was appointed by Guru Nanak Dev as
his successor ?

(1) Bhai Mardana
(2) Bhai Lehnaji
Bhai Bala ji
(4) Bhai Lakshmi Chand ji
Where did Jyotiba Phule born ?
(1) Haryana (2) Maharashtra
(3) Delhi (4) Bihar

160.

161.

162

163

164

166

167.

24

165.

e @ famreras A sy fan watAee @
‘Harevgad’ feohimeas ?

(1) fdevwamae

(2) YHATI HITAIE

(3) wadfed HOATId

(4) O HIATNE

FIIT AT I TUAGTUTT IS B TH T ST
fait ?
(1)
(3)

L)

ydg

(2) Tfowrer
(4) | gIETEH

w5 fesat fan d gg atar ?
(1) neEd (2)
(3) =°q (4)

AT

Waaay

Hara™r fan & fafnr ©
(1) whET s

(3) HJTHIHE

@) s i
(4) g8 °HT

gt ot 33t fan-fan fegera 3et ¢
(1) freA-8e-8% w3 I93c aBERT
@)(), FEIe FBTET 73 Hig Frfad

(3) fRaA-8u-T8T w3 Wig afar
(4) ,3d™HdC IBTEIE M3 Hig FeT

3733 f&T vine fEahar duat Bt rarusT &<
Jet?
(1)
(2)
(3)
(4)

23 98 1757

23 WIAFET 1764
31 ©HYd 1600
30 ©H8d 1608

g 5759 e< it & »rueT
gfenr ?

(1) STEl HaeaT

(2) 9vet sfoer A

(3) TEtEETH

(4) ITEt Bamit Ie #Ht

fang

Afger g8 e war fa g dfemr ?
(1) Iferrer (2) WITHST
(3) fest (4) faore
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168.

169.

170.

171.

172.

173.

By the 17th Century which of the following
powers have declined their influence in India
(1) Portuguese and Dutch

(2) French and British

(3) Dutch and British

(4) French and Portuguese

Who founded the 'Rama Krishna Mission' ?
(1) Swami Dayanand Saraswati

(2) Raja Ram Mohan Roy

(3) Swami Vivekanand

(4) Ishwar Chander

Who stopped the pension of Nana Sahib after
he became the successor.

(1) Lord William

(2) Lord Dalhausie

(3) Lord Cornwallis

(4) Lord Bentick

Who raised the slogan 'Delhi Chalo' ' Give
me blood , I shall give you freedom'y and 'Jai
Hind'.

(1) Mahatma Gandhi

(2) Subhash Chander Bose

(3) Bhagat Singh

(49) Mohammad Ali

At which system did Raja Ram Mohan Roy
propagated to end.

(1) Dowry System

(2) Sati System

(3) Divorce System

(4) Parda System

From the following which statement is true

a)  Constitution is a legal document

b) The Government of a country runs
according to the constitution .

(1) 'a,d'are correct.

(2) ‘'a,'d'are wrong.

(3) ‘'a'iscorrect but 'b' is wrong.

(4) 'a'is wrong but 'b' is correct.

168.

169.

170.

171.

172.

173

35 fefpnr {9 1 73 At I fagdot et
T 9193 & ygre we I famrr At ¢

(1) YISIrat w3 39

(2) TIHA M wEEH

(3) FI I wdEdH

(4) TIHNT MI YISt

‘T fqws fHes® <t rawysT fan & 13t ¢
(1) A ewde RoReIt

(2) THTIH HIS Ie

(3) At feRade

(4) feweqdeg

&7 wriog € §°3ofaadt wew 3 faw & Qust
@t Uons du a9 fe'st ¢
(1) 335 festmr
(2) 9T 3BIHT

(3) ®IT ATS(BH
(4) @I &feq

o=t 98 ‘gt A yo fe€, ¥ gog wrareh
[T’ w3 R e 39 faw gvmar sare e ?
(1) MO It

(2) HIHITT W

(3) CZerg fiw

(4)  HIHE WSt

THT I HIS ¢ & fan yur § u3an q95 set
ygaai3r?

(1) eIFyEr

(2) AStyar

(3) 3IBFIYEr

(4) vIeTyEr

5 fefipt Q9 faoar quas 7t 3 7

€) Afeus feqadastensmerd |

o) O € AIa9 Afeus »igATe g5TEt widt
T .

(1) €, mitIs)

(2) @, IBI IS

(3) ARAIMI W IBIT |

(4) ‘@ IBI I M o 7 T
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174.

175

176

177.

178.

179

180.

Who is the protector of Constitution ?
(1) Legislature

(2) Executive

(3) Judiciary

(4) None of above

When did India become a fully democratic
republic.

(1) 26 January 1930

(2) 26 January 1940

(3) 26 January 1950

(4) 26 January 1960

By which amendment of the Constitution the
word 'Secular’' is added to the Preamble of
Indian Constitution .

(1) 40th (V)]
(3) 42nd 4

41st
44th

Which article of Indian Constitution provides
Freedom of Speech, faith, right to worship and
freedom to roam about in India ?

(1) Article 14 (2) ", Article 19

(3) Article 25 (4) Article 10

How many members are nominated by the
President in Rajya Sabha ?
(1) Two 2)
(3) Eight )]

Five
Twelve

Out of the following, to whom the civil cases
are related ?

(1)  For Special people

(2) For officers

(3) For Common people

(4) For Women

How many languages have been recognized by
the Indian Constitution ?

(1 15 2 30
3 22 @ 32

174

175.

176.

177.

178.

179.

180

Afeus erufdeg @z Jerd ¢
(1) feus ufsar

(2) aIAUTEar

(3) fonmtufsar

(4) feoat fee aet &t

93 q& y9s gy &9 ygnar Wis Sa3adt
ST 5 fapur ?

(1) 26 A&EET 1930

(2) 26 AGEI 1940

(3) 26 A&EE 1950

(4) 26 AGFE 1960

I3t Afeas &t fan aar wign's fewrs yare
95, feawn , QuUAsT 73 Y e ffa iz

feas &t g3gesr feAN aet 37
1) T4 (2) 'gar19
(3) © urgr 25 (4) U310

THEIUS gorar IR AT fE A Rm aniee
a3 Ae s ?

1 € 2) "

(3) s (4) gt

5 fefimit fe@ fres ya'en fan & Nuz
JoId?

(1) uw Sat sgt

(2) nREAI BE

(3) wH Fat et

(4) nigst BE

F9at Afeurs gorer faasht graret § Wraar
fetaeta ¢

(1) 15 (2) 30

(3) 22 4) 32
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